Similar Triangles

é\

PQ is parallel to ST.
P

REVISE THIS
TOPIC

1 PQR and RST are similar triangles.

PQ=9cm RQ=6cm

(a) Work out the length of PR.

PR A
S b

(b) Work out the length of RS.

RS
G

—
—

L
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R
S >
RT=5cm ST=6cm
PR= A X5
G
RS= 6% 6

L

cm

(Total for Question 1 is 4 marks)

© 1stclassmaths

u . r@ @1stclassmaths


http://www.1stclassmaths.com/

u y r@ @1stclassmaths

2 EFG and GHI are similar triangles.
EF is parallel to HI.

EG=81cm GF=18cm GH=10cm HI=12cm
Angle EFG = 21°

(&) Work out the size of angle GHI.

i\n\c)\e/ GUl = Anle EFG

(b) Work out the length of EF.

éf: Lg_ EF: lngz—
\l \O |0

(c) Work out the length of GI.

Gl = 1O Gl = (0 x g
g\ 9 |8
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3 ABC and ADE are straight lines.
BD is parallel to CE.

AB=4cm AD=5cm DE =15cm BD =3.5cm

(a) Work out the length of CE.

CE . 20 CE= 20x3%-5
35 S S

|%

(b) Work out the length of BC. € *
x+% - 20 x+4% = |6
a > o= \L
x+r4 = A0x %
S

| L

(Total for Question 3 is 4 marks)
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4 ADE is aright-angled triangle.
BC is parallel to DE.

\1—
—I >

AB=6cm AC=10cm BC=8cm BD =1.5cm

E

(a) Work out the length of DE.

DE - 15  DE-3ISx?
A C

oC
(b) Work out the length of CE.
x40 = S X¥10 = |21-S
Y o A= 2-S
Xr\0 =3 S xI(0

G

15

(Total for Question 4 is 4 marks)
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5 ABC and ADE are straight lines.
BD is parallel to CE.

AN

Y

Cc > E

AB=6cm BD =12 cm CE=28cm DE =10 cm

r
(a) Work out the length of BC.
7__%:&2; x+6 = %
G 1L -2
X4b = 23 X6
|2
3
(b) Work out the length of AD. & 3
w10 A% \10‘-\(,5
7Y 12
4=

\’l(»—k o) = 'l&:j

15

(Total for Question 5 is 6 marks)
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6 ABC and EDC are straight lines.
AE is parallel to BD. A
x
B

E D o) c

BC =15cm BD =9cm AE=105cm EC=21cm

(a) Work out the length of AB.«" *
XY 1S =10-S A+IS= 13 -S
'S A A=2-S

xxlS = 0-S xS
9

LS

(b) Work out the length of ED.

(\‘v\& DC/ Eir&\: %_ = _l U: \@

2\ 10-s
Y = Axa&l  Ep=A-\§
10- s

3

(Total for Question 6 is 5 marks)
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7 ABC and CDE are straight lines.
AE is parallel to BD.

BC=28cm DE=6.4cm

BD:AE=1:3
€L
(a) Work out the length of AB. «
x+2-%9 = 3 x+2-3= %%
x+ 283 = Ix2Y

S.b

(b) Work out the length of CD.

N2

(Total for Question 7 is 5 marks)
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8 ACE is aright-angled triangle.
AE is parallel to BD.

AE=40cm CD=18cm

AB:BC=7:3 <
(a) Work out the length of BD. e
AT = /L
4o |G
x= I*4%0
1O

\ "L

(b) Work out the length of DE. & 3

3-4'(8 =
3

l(:ﬁ»\rlﬂ‘
Ly xSk

8
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=180
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(Total for Question 8 is 6 marks)
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9 ADE is aright-angled triangle.
BC is parallel to DE.

D
B
A
O
A oC Cc E

BC=10cm DE =15cm CE=12cm

Work out the length of AB.

Find AC Girsbs AB™: ACT+CB”
AR %= 4™ + 0"
X+ = \S AR™= 636
P [0 AE:\IGTG
10 (ae+12) = \SL AR = L6
lOx+120 = 1S %
170 = S=

x = L

-

(Total for Question 9 is 5 marks)
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10 ACEG and BCDF are straight lines.
AB, DE and FG are parallel lines.

A

11.25cm

AC=8cm BC=64cm DE=7.5cm FG=11.25cm EG=25cm

Work out the length of DF.

X LS = s _ g
% 36 é% Y
TS(xx29)=11-115x y= Sx6k
}Sx + 18381118 g
(R IS = 1'}37{, U = L—\'

x= S

Z+Y4 = 1128 Z+4= 6
4 +S 7=

Z44 = |1-2S x4
EFRES

(Total for Question 10 is 5 marks)
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